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Solving Sequence

5’104>64>11%7»3712»2~>1—>4~>9—>8%>63,C7,612
Cs €10 Ce C11 C2 C1 Cy4 Co C8

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

P=w —u® b+ 1, w4+t 6u, w0 - 20 - 360 - 1)
=®+1,a v’ +u?—2u—1)

* 2 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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1.
I = (u?®—u?®+. .-+ b+1, —u?*+u?®+...4a+6u, u?**—2u??+...—36u—1)

(i) Arc colorings

0
a10 = \u
1
ag = —u?
U
a1 =\ —ud +u
—u?+1
ar = \u? — 2u2
u® —u®® 4 - — 8u? — 6u
az= \ —u? +u®+... —2u—1
—u3 4+ 2u
a12 = \u® —3ud +u
—ult + 112 4 —8u—1
az = —u? +u® 4+ —2u—1
—u® + 4u — 3u
a1 = \u” —5u’ +6ud —u
—u?? U 4 —6u—1
ay = —u29+u28—|—-~-—u—1
—ub + 5ut — 6u? + 1
ag = \u® — 6ub + 10u* — 4u?

ut —3u? +1
ag = \ —ub + 4u* — 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —3u?? + 4u?® + 62u?" — 82125 — 561u?° 4 739u?* + 2918u*® —
3849122 — 9630u2" + 12801u2° 4 21006u'? — 28320u'® — 30675u'" + 42061u'6 +
30044u'® — 413420 — 20264u'® + 2602612 4 10788u!! — 10222u'0 — 5598u” +
2750u® + 2538u” — 619u8 — 778u® + 21u* + 168u3 + 52u? — 25u + 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ w4120 + -+ 9T+ 1
Co,Cy WO -4+ +18u—1
c3, Cy w0 — w4+ —28u+38
Cs,C6, CT
€8, €10, C11 w4+ 20 - 4360 — 1
€12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y*0 +16y*° + - — 7313y + 1

C2,C4 20— 129 4+ — 9Ty + 1

€3, Co y30 —21y% + ... — 1104y + 64

Cs,C6, CT

80— 46y% + - +40y° + 1
¢s, €10, C11 y y Y
€12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = 0.900406 + 0.2382401
a = —0.659304 — 0.4138321
b= 10.605232 + 0.7682541

5.67065 + 1.256961

15.5737 — 1.73881

u=0.900406 — 0.2382401
a = —0.659304 + 0.4138321
b= 10.605232 — 0.7682541

5.67065 — 1.256961

15.5737 + 1.73881

u= 0.814325+ 0.3401657
a= 0.69999 + 1.776181
b= 1.030380 — 0.6886391

4.42916 + 6.788901

12.9792 — 7.42651

u = 0.814325 — 0.3401651
0.69999 — 1.776181
b= 1.030380 4 0.6886391

4.42916 — 6.788901

12.9792 + 7.42651

u= 1.18737
a= 0.321529
b= 0.549343

5.59474

18.0870

u = —0.736617 4 0.1296871
a= 0.52614 + 2.058331
b= —0.816371 — 0.4323421

0.97252 — 1.811981

11.73549 4 4.669481

u = —0.736617 — 0.1296871
a= 0.52614 — 2.058331
b= —0.816371 + 0.4323421

0.97252 + 1.811981

11.73549 — 4.669481

u = 0.654424

a = —0.551259 —0.312115 16.4990
b= —1.18483
u = —1.37237

a= 0.0265788 6.56541 13.9410
b= —1.33306

u = 1.393080 + 0.0491421
a= 0.62086 — 1.750591
b= —0.838747 + 0.6222521

8.15659 + 2.435051

13.02410 — 2.907941




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 1393080 — 0.0491421
a= 0.62086 4 1.750591
b= —0.838747 — 0.6222521

8.15659 — 2.435051

13.02410 4 2.907941

u = —1.41889 + 0.157841
a= 0.01368 — 1.737861
b= 1.114240 + 0.7281341

11.8944 — 8.63081

14.0718 + 5.72241

u = —1.41889 — 0.157841
a= 0.01368 4+ 1.737861
b= 1.114240 — 0.7281341

11.8944 + 8.63081

14.0718 — 5.72241

u = —0.348859 + 0.4416681
a= 0.229073 — 0.7207071
b= 0.785869 — 0.6328621

1.73384 + 0.970081

10.55280 + 0.953901

u = —0.348859 — 0.4416681
a= 0.229073 4 0.7207071
b= 0.785869 + 0.6328621

1.73384 — 0.970081

10.55280 — 0.953901

u = —1.45263 + 0.101651
a = —0.661962 + 1.0377501
b= 0.546899 — 0.9407881

13.61630 — 2.522811

16.2553 + 0.1

u = —1.45263 — 0.101651
a = —0.661962 — 1.0377501
b= 0.546899 + 0.9407881

13.61630 + 2.522811

16.2553 + 0.1

u = —0.206383 + 0.4955651
a= 171927 —0.542171
b= 10.926515 + 0.6417291

1.28497 — 4.026441

8.41488 + 6.422841

u = —0.206383 — 0.4955651
a= 1719274 0.542171
b= 10.926515 — 0.6417291

1.28497 + 4.026441

8.41488 — 6.4228471

u = —0.362782
a= 0.804898
b= 0.108164

0.561369

17.6530




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u= 0.118463 + 0.2322871
a = —1.31174 — 2.445671
b= —-0.912796 + 0.1660741

—1.60535 + 0.581101

—1.83750 — 2.627821

uw=0.118463 — 0.2322871
a = —1.31174 + 2.445671
b= -0.912796 — 0.1660741

—1.60535 — 0.581101

—1.83750 + 2.627821

u = —1.79109

b= 0.533783 — 1.0347201

a= 0.214755 16.5830 0
b= 0.718711
u= 1.83735
a= 0.242340 18.6422 0
b= —-1.40717
u = —1.84184 4 0.011661
a= 0.64542 + 1.690461 —19.1326 — 2.73601 0
b= —-0.867094 — 0.7161321
uw=—1.84184 — 0.011667
0.64542 — 1.690461 —19.1326 4 2.73601 0
b= —-0.867094 + 0.7161321
u= 1847284 0.040171
a = —0.22651 + 1.651591 —15.2987 + 9.64341 0
b= 1.166510 — 0.7507221
w= 1.84728 —0.040171
a = —0.22651 — 1.651591 —15.2987 — 9.64341 0
b= 1.166510 + 0.7507221
u= 1855114 0.025161
a = —0.624328 — 1.2600801 | —13.33250 + 3.184871 0
b= 0.533783 + 1.0347201
uw= 1.85511 —0.025167
a = —0.624328 + 1.2600801 | —13.33250 — 3.184871 0




I I*=(b+1,a, ud4+u?—-—2u—1
2

(i) Arc colorings
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(ii) Obstruction class =1

iii) Cusp Shapes = u? +u+5
(iii)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
3
C1,C2 (u — 1)
C3, C9 u3
Cy 1 3
(u+1)
€5, C6, C7 ud +u? —2u—1
&)
3 2_9 1
€10, C11; C12 u” —u” —2u+




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C4 (y_l)
€3,C9 y3
Cs5,C6, CT
#—5y® +6y—1
¢s, €10, C11 Yy Y Yy
C12

10



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u= 1.24698
a= 0 4.69981 7.80190
b = —1.00000
u = —0.445042
0 —0.939962 4.75300
b = —1.00000
u = —1.80194
a= 0 15.9794 6.44500
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
“@ ((w=1)*) (@™ + 120> + - + 9Tu + 1)
& (0= 1)@ — 40 4+ 130~ 1)
3, Cg wd (w0 —u® 4 - — 28u + 8)
€4 (w4 1)) (W —4u? + -+ 13u — 1)
0576672 (0B + u? — 2u — 1) + 202 + - + 364 — 1)

€10, C11, C12

(u? —u® = 2u+ 1) (u® + 2u® + -+ + 36u° — 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 ((y = 1)°) (> + 169> + - — 7313y + 1)
c2, €4 ((y =D —124% + - = 9Ty + 1)
3, Cy (130 — 2192 + .- — 1104y + 64)
Cs, Ce, C7
Cg,C10,C11 (y3 - 5y2 + 6y - 1)(y30 - 46y29 +e 40y2 + 1)
C12
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